
ðÒÁËÔÉËÁ-04.

úÁÍÅÎÁ ÐÅÒÅÍÅÎÎÏÊ.

1) òÅÛÉÔÅ ÕÒÁ×ÎÅÎÉÅ 6x4 = x2 + 1.
2) òÅÛÉÔÅ ÕÒÁ×ÎÅÎÉÅ x+ 4√x− 3 = 15.

3) òÅÛÉÔÅ ÎÅÒÁ×ÅÎÓÔ×Ï (x− 3)2 + 1
x2 + 6x+ 9 > 2.

4) òÅÛÉÔÅ ÕÒÁ×ÎÅÎÉÅ 4x2 − 2|2x− 1| = 34 + 4x.

5) òÅÛÉÔÅ ÕÒÁ×ÎÅÎÉÅ 6
(
x2 + 1

x2

)
+ 5

(
x+ 1

x
)

= 38.

6) òÅÛÉÔÅ ÕÒÁ×ÎÅÎÉÅ cos2 x− 2 sinx+ 1
4 = 0.

7) òÅÛÉÔÅ ÕÒÁ×ÎÅÎÉÅ 1
cosx + sinx = 7 cosx.

8) òÅÛÉÔÅ ÓÉÓÔÅÍÕ ÕÒÁ×ÎÅÎÉÊ:
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x− 2y = 1
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2x− y − 1

x− 2y = 1
18

.

9) òÅÛÉÔÅ ÓÉÓÔÅÍÕ ÕÒÁ×ÎÅÎÉÊ:
{

(x2 − x)(y2 − y) = 72
(x+ 1)(y + 1) = 20 .

10) òÅÛÉÔÅ ÓÉÓÔÅÍÕ ÕÒÁ×ÎÅÎÉÊ:
{
x(x+ 1)(3x+ 5y) = 144
x2 + 4x+ 5y = 24 .


